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1. BNIrpaEsE

from tinyddp.client import DDPClient, Collection, Subscription

# 169.254.1.254 91 lf8ipaddr, 7801/3PMI-60031EHRIERHIROS

# HAEPMITERIBARTEN S [AL, A6]DBIRIMIRS[7801, 7806]

# HAEPMIRBUBANIES[B7, B8] AIXINImAS[7807, 7808]

duts _port = "ws://169.254.1.254:7801"

client = DDPClient(duts_port)

pmi6003 = client.get proxy('PMI-6003') # 'PMI-6003' NrpcimiEf@EsLAftIdsR

2. APIEH

pmi6003.measure(6V, 5, 3000)

ER{FAPIEE

AR ETAPIZIZR B4 API_List/pmi-6003.html

ZiEiieE

RERROSHPR "=" AEME, ERERapilIHERSEHASE;
LIS NI E R & -
e &R :

measure(self, scope, sampling rate=5,delay time=1):

BREE:

measure('6V")

1. ZREVR{HRR A

get _driver_version():

Returns:
string, current driver version.
Examples:
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pmi6003.get_driver_version()

%/\\\ILJEIJJIE\E

measure(scope, sampling rate=5,delay time=1):

Args:
scope:
string, scopeSEUNNERBIN SRR,
[ 'emV', '6V', '60V',
‘600mV_AC', '6V_AC',
'16nA', '100nA', '1000nA', '10uA', '100uA’,
'1000uA’', '10mA','100mA', '1000mA', '3000mA'
'41ine_1ohm', '4line_1000hm', '4line_1Kohm',
'4line_10Kohm', '4line_100Kohm', '4line_1Mohm',
'4line_16Mohm', '4line_100Mohm', '21ine_1000hm',
'21ine_1Kohm', '2line_10Kohm', '2line_100Kohm",
'21ine_1Mohm', '2line_16Mohm', '2line_100Mohm'
"diode_5000mV" ];
sampling_rate:
float, sampling_rateS¥IRIFIEIRERE, SBA1Hz , BUESEE9[5~250000] ;
delay time:
int, (>0),delay_timeNEFRTIHEIEIRATIENIER, B ams ;

Returns:
list, [value, unit].

Examples:
resistor = pmi600©3.measure("2line_1@Mohm")
print(resistor)

%/\\\I*J%Ijjﬁg

multi point_measure(count, scope, sampling rate=5,delay time=1):

Args:
count:
int, countSEANIEREL, BUESEEH[1~512];
scope:

string, scopeSEANIEREIN SFTEIEE;
[ 'é6mV', '6V', '60V',
'600mV_AC', '6V_AC',
'10nA', '100nA', '1000nA', '10uA', '100uA’,
"1000uA’, '10mA','100mA', '1000mA’', '3000mA’
'4line_1ohm', '4line 1000hm', '4line_1Kohm',
'4line_10Kohm', '4line_100Kohm', '4line_1Mohm',
'41ine_10Mohm', '4line_100Mohm', '2line_1000hm",
'2line_1Kohm', '2line 10Kohm', '2line_100Kohm',
'2line_1Mohm', '2line_1@6Mohm', '2line_100Mohm'
"diode_5@00mV'].
sampling_rate:
float, sampling rateZSF9RIERERIERE, BN 9Hz , BUESEE 9 [5~250000] ;
delay time:
int, (>0),delay_time NEFEHRFEIRATIENERE, B/ Aams ;

Returns:
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dict, {"rms":[value, unit], "avg":[value, unit], "max":[value, unit],
min":[value, unit]}.

Examples:
resistor = pmi6003.multi point measure(10, "2line_10Mohm")
print(resistor)
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LB (FRE6VERNESVEIREB/E(measure, multi_point_measureREEFRILANIE I BTFRANE EEBT
ZalE)

EIANGPS: pmi6o03.measure('6V', 5, 3000)
IR[E)ER: [5000.25170134012429, 'mV']

BN : pmi6e03.multi_point_measure(5, '6V', 125000, 3000)

IREIZEER: {'rms': [5000.15170004012421234, 'mVrms'], ‘avg':
[5000.15150024901342124, 'mV'], 'max':[5000.20153404902314234, 'mV'], 'min':
[5000.05150004924242234, 'mV']}
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HR2: (FFE6V_ACEIENEATAREB/ESVEE BASTIZfac=1000Hz

BN : pmi6eo3.measure('6V_AC', 5, 200)
IR[EIZEER: [5004.30303211031424231, 'mV']

EIANGPS: pmi6003.multi_point_measure(5, 6V_AC, 125000, 200)
IREER: {'rms' :[5004.2030121102314323, 'mVrms'], ‘'avg': [5004.2014002112422442,
'mV'], 'max: [5004.3030911103423, 'mV'], 'min': [5004.10500191325634, 'mV']}
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E: pmieo3.measure('1000mA', 5, 3000)
REIER: [199.97920009042424254, 'mA" ]

MWE: pmi6e03.multi_point_measure(5, '1000mA', 5, 3000)
JREILEER: {'rms': [199.9992000903484242, 'mArms'], 'avg':[199.9892000449324243,
'mA'], 'max':[200.01920009083452162, 'mA'], min:[199.78920009085356, 'mA']}
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E: pmi6oe3.measure('4line_lohm', 5, 3000)
IREIZEER: [0.997002001076523421, 'ohm']

WE: pmi6@03.multi_point_measure(5, '4line_lohm', 5, 3000)
REER: {'rms': [0.998002001075415, 'ohmrms'], 'avg': [0.997063001075336,
‘ohm'], 'max': [1.00700200108534, ‘'ohm'], 'min': [0.98996300108652, 'ohm']}
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$E-(#EF2line_1Kohm =72, & 1000hmESfE:

E: pmieo3.measure('2line_1Kohm', 5, 3000)
IREER: [1000.01630024086244721, 'ohm']

MWE: pmi6003.multi_point_measure(5, '2line_1Kohm', 125000, 5)
IREIZEER: {'rms': [1000.003304242424011, 'ohmrms'], 'avg': [1000.007300242525791,
‘ohm'], 'max': [1000.1173009663341, 'ohm'], 'min': [999.9073046742021, 'ohm']}
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MWE: pmi6e03.measure('diode_5000mV', 125000, 5)
IRE)ER: [1700.9271024536674012, 'mV']

WE: pmi6003.multi_point_measure(5, 'diode_5@0emV', 125000, 5)
IREIZEER: {'rms': [1701.05130256646029, 'mVrms'], 'avg': [1701.05100851357902123,
'mV'], 'max': [1701.2026400136790432, 'mV'], 'min':[1700.4835200208921456, 'mV']}

PO. Nysa_toolkit{sEFEiAR

Nysa_toolkit@Nysalliil FEIRHAITEIREEIERG TE, HiRHt T Debug panellfge, AILUBEEUIGNER
ERMMUERRATNENIAINEE, TFIIMEAR LA rpcRE,

UIToRE(E AR

FIFFNysa_toolkit LN, mEHIfE_EAIPMI-6003 RN UIEIX FRE
—. PMI-6003%= 5 ARV R EIN N ER~:
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3 Mysa-toolkit — O x

PMI-6003 ¥i==H %

Q 2Wire Q 4Wire

b=

WEMANSEUSEUT

DC: DCEHENE, EF2(scope)niEHE[ ‘6mv’,’ 60V’ ]

AC: ACEEENE, 2F2E(scope)diEiE[ ‘600mV_AC °,’6V_AC °]

I: DCEERNIE, EF2(scope)TiEiE[ ‘10nA °,°100nA *,°1000nA°, “10uA ,’ 100UA
’ 71000uA’, 16mA ’,’100mA ’,’1000mA’,’3000mA° ]

Q2Line: EBFENIE, EFZE(scope)r iEF
[“21line_1000hm’,’21ine_1Kohm’,’2line_10Kohm’,’2line_100Kohm’,’21line_1Mohm’,’2line_
10Mohm’,’21ine_100Mohm’ ]

O4Line: EBFENIE, EFE(scope)d iEF
[“4line_1ohm’,’41line_1000hm’,’4line_1Kohm’,’41line_10Kohm’,’4line_100Kohm’,’4line_1
Mohm’,’4line_1@0Mohm’,’4line_100Mohm’ ]

VD: TIRENE, 272 (scope)T ikiE[ ‘diode’ ]

RFEEEZR (sampling_rate): BRIMES, BA{iHz

ZEIRATE] (delay _time): ERIAEINS, ERfims

RE (count) : AR SEHNRERSRNERE, NESRERIGIR(rms) , FYE(avg) , &K
{E(max) , /AME(min)IXJL/ME, RERHETEENNANE
Bien .

BMAIVRIEREE, RE"oc", “WE%H, BIRUEmANEREE.
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